276,5

A

=
Y
- 101 . 101 _
A
oo||loo||lolo
O 0 © 0O ICHRC
| ~ — |
\— | — o
lolo] |oo|[ol0]  E
$8,5 j& @ ﬂ“_
4 oTB = I
] ~N ] ~\ + ] 2 -Ya !
A — " —
® ® ® ® ©6,5
KpenexHble 4 oTB.
| OTBEPCTUSA
& ® ) | ] 4 J
® ® Ko
® | ® ®
}[ 4y 1 ) . I : o }
= E o
Y iﬁn . Y
A
(e
<
Y —~ . ' 7
- 145 _
287

A

308

Y

180

63,5

/
o
(o)
‘ : b
o
(]
o
oo (o) .
® o ® o Qﬂj ™
O ® A
| : [
— [|oo O @)\
| o~ L© 00 o @
- 203 _ .39
A
15, . 3__ 5
A () '—G} L
oo | 9 ﬂ
?, Y \
L : 0 =
o0 | o |
Ty} Ty} _ _ 2 I
(00) (ap) Y \
oo 9
[ ©
ol |
JaA h
A U/ __6} Y
g 8 [ T O
I I &
D11 80,5
18 oTB. ’ -



	Лист1
	Чертежный вид11
	Чертежный вид12
	Чертежный вид13
	Чертежный вид29


